7
3
L,

TRASAS
TRASA 1

TRASA 2

TRASA 1

~ S 2”__&
4m -
R g IR IE
Re|l £ Vo |
o 25| © 2
= | - w (=% o
S o [} O.M.n o S ~N
— c = g2 (| N 1] L
s % ; S g 2, SEE|le _ || 8FF N
8 2 5 8 E = 2 2 azi|l = 2| Lls %
S 5 = 5 2 38 B 8o cscll E @ D |3 2
T2 L 2S = =% 8 oz sesllegx || 11 & |=
= O T —— 5
L x § 9 28 o X o 85 SSE chnwm
o [ [ [ c < .m f = o N oD = D S s
NS 22832 § 3 8 &5 2l £ 2 N
a a 2 8 2 a § = 8 = > 24|l © =2 MOOQNH
© o % ¥ »a & oc N EgZ G E || — Q W S =X
= Cel| DO L~ [ S8l
N Y O R K A T N B B~ 2| £ .2 | © o =0l
T2 Fls 8=
o E|| 2 TZe
covl = 2 T2
arW ow (&) N 5 7| S
— 20| © <C S Sdls
[e RBJIEN=] ) 2=
>0|l® o e O,
M‘mrmw R
£o mm > = =
20 ..mS k] 2
X/ £ = |E 4|
N/ A 2 2458
N A E<C |, |% g E|O
| ¢ Ex|f |28 2
z z z |88

161.43

h.kp, .
cmg 6 1623

5&@ ‘_ _ | o\l
| 1 N SR
I RNV @OW//
I YN Y
/ |
L / Y A
® 3 6000 I __ ./lllllpﬂ lllllll
{ et
B 5[ | N / 4dzu-0+286 G\ 11 / . liiwf’ 166:67
\ . S ﬂ/@, / e 10 ,%N-A..OS.. F- gﬁ-ﬂ \9- 5 (WETS /%w ®-
y oneLS 46 RALLLLIL B v / > ;
® 5 /N 0 ey 82 o ; -
A TR /R %@AO@‘@..‘A | ! Q
o TN Z - pa ,\_w\foxﬂx oo,m.o I )
PV

12,00
4,66

X(N)= 589966514

lgl= 47,1470
£=889
Y(E)= 744742820

tuk W24
I

R
B=0,87

50,00

X(N)= 5899633 81

tuk W2.3

olgl= 15,2798
£=12,00

T=6,03

B=0,36

Y(E)- 7447431,16

R

7,2042

573

X(N)= 5899605,96

Luk W2.3
R=50,00

glal

L

T=287

B=0,08

Y(E)= 7447427 07

glg]= 3,7450
k=1765

T=8,63
X(N)=5899516,56
Y(E)= 7447403,25

tuk W2.2
R= 300,00
B=0,13

qlg]= 95,3665
X(N)= 5899368,98
Y(E)= 7447377,18

tuk W2.1
R=30,00
t=44,94
T=21,89
B=10,9

E o)
38 g 7 N =14
o ,mw.wz ' \,,\ \ N s 0 N “ow,m@///,/
i ,mw. \ [ o / - __ ﬂrf O+N®|~L~ A T
P el | \o \ / 1620 _ mm&wmw.?m L
T bl ) CINER ] o Sl
) ./Qu.o __ 610 m e\ X \ @ /\“4 NWNNQ|O+N®
\s [ | || 358 L oL Ty
)W 3/ /@O.OMW 530U \ ./MM.O [\ ' .c.o.ww %) leb. o ﬂla .m A .m
. G Ek NG |
@.H,a | /m./.o& R
0P | - ok { S
el — 0,49 - " azd- 1998.0 \ ¢ | 1629
& ) T8 z-4.0,; F 51 w ‘5 5 78
)] 5 o \ AT,
SRS CRER\ 2o S T e
| o RNO P wod 4.92
I Bt AIE - SLK 055505 98
__W.M M C B3R : \_ P <“N>>Q>N®,®®
] 2% -0¥241.94
LT 4,0m EAS1S5)  04242,05
sl_| B 5 X = 5899603,19
sosg—= =1t 1§ : e = 7447426,33°
'S
5 Y _Qz-A 0m,; F-1 um..\_ .m
o i hdmiiiid
S —
N :
D m/////,i
9
i 1623
; L
) W b\ ./mow_‘,my,mpww |O+NA®.®m LI\ol\l'l‘l\bu
AR -
YE 4 = =sz-aum;, r-1,0-1:9
8 R A 3 |
ot 1 m ] Zjazd-0+178.65 W\ | X |
o] 1 wy SehomiF1515 | AZ ||| 92 |
v NIt k3 - LI r 6L @\ _
e _m § 9_ ik /%pw,: W& m%ﬁ@ s /18 1F AL o8 o) __
e \“ = o + i NS |
o g 74 W\ Ry o %1( 1
7 bl _“ “ N 1
v ) ./ \EYM: @\@@ )@H.\_ ¢ B350 wba llllllll & O A@N@
N .
e TE . N Zjazd-0+19/-
T B Zazd-0+20980 ) g [N P Sz-4.0m,, F1,5:4,5
U s w Sz-4,0m.: &8 e - EY iy E— ARY S
RESh (I F-1%51,5 kit __
=L = I S\
L 3 | ]! \ <
\\Vm\holjui L SR
g “ _ cRu
|
> W J
~ P o ) Wi A
ol [ --M g | ™ g RO 80
x d RN w2 zjazd-0+1TT-
o EIRE AN i ko £ 545
A ksiho i
W W
. ARO-
w5 T
<+
! U
A WE / KLK0+161,23
BE |2 { i | X = 5809525,09
sofl | ! g L%y = 7447405,52
S5l b i ’ N
“ s oM B
o® °f 8K 0+15241
> | X =5899516,53 AN
2 ,s./ = 16 ! i
o ‘cl‘ 5
@?a D0 .waNa-oi»w.S :
\|/ e ; T 3 melb..o e by —
PLK 0+143,58'1T
............. AOA
m%ﬂwﬁrx_u 5899507,91 RS
e P (2744740148 _
2= 163 NGL , W e
8| | %\ﬁm skezyzowanie 3
F\ﬂ H » | o+‘_‘_w©o frsd -
s mW S5 Sowari 2
o S4Bz E
%/@@, 9.73 SiE]
ngd %/@@./ . __mm !
ﬁm\,.wm N
||
\| ——
\\yﬂ
2
S| WE |3
n| otkF [T
(-]
H 2%
8 an
3 A T
N T ™
~
X =3 %.
D A -1
._U, n @PP lllllllll %
— g u
T N
e i|ls © 3 mrm N.._QNQ.O+OmA.mm
b9 112 e 83 a8 g74.0m; F-1.5:1.5
‘\// / = Ao\
m. ||m 163
Lm w0 ©
8 v mmn ))
g
1 }
Ty B -
! 40 .ftl-\k/_
m -.,Mvﬁ.,,/ D
K < /=7
==
=1
~r
AL
o Q o 4
= . . W~~~ g5, /o w.W ° 5 o BURS
mxﬂN<N°Em=—m ~ / 'w_o OO ° 00 ° o
0+055.50 X °o Owmw
X o Cok-¥
o =)
e 0O
QN
533 8
s/_omou ijﬂ. g
o |
x> !
o
) \
|
i
|

\_OP N AR a1y~ o 17 I
/7 gk

o8k w098
N .__n.rmr i.%%u
N7 %@\%
A
S
\ P o %//, a
@@\W )@H.\_ - /o.w.?.

[ 2l

I
1
1
i
) N \ %
o § WO \ 23@ &
OV 1 440 L
x/\ ! 1..1u.4u.
\ ol =)
\ oM<
| oD~
[IN +
N o®8F
um‘w.y __. \ w0~
13 uIA_,__ n=
= «
NSk
|

F———— T T T T 7716353 .
163,48




